OBRLREEVI-HIFEEORRICET 2R

R EREFERLIEE (4E/4)

re‘sg:/Li?i = |

AL R IK
KERERE H24.5.10 H24.8.2]  H24.11.1 H25.2.70 H24111F (BLF)

pH — — . — — — 5.8~8.6
BOD 0.7 1.1 1.3 <05 130 15
sS {25 <25 25 {25 300 10
TERGEYNE <1 <1 <1 <1 1 5
TEREEE DRSS <1 <1 4 <1 <1 30{
FORBEE <10 <10 <10 10 70 220
DO — —| — — — —
RKEEHN — — - — — -
AREG LB UOFDIEESY <0.002 <0.002 <0.002 <0.002 0.004 0.1
T EY 0.1 <01 <0.1 0.1 <0.1 i
HigE <0.1 <0.1 <0.1 <0.1 <0.1 i

AEUEDIEEY <0.01 <0.01 <0.01 <0.01 0.05 0.1
Sl £0.05 <0.05 €0.05 <0.05 - <0.05 0.5]
MERVZTDIEESS <0.01 <0.01 0.1 <0.01 <0.01] . 0.1
KR <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.005
FILEILIKEBIE S <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 ND
RUB{EETDT= )L <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.003
Jr/— LB <05 0.5 <0.5 <0.5 0.6 5
WEHE <0.2 0.2 <0.2 <0.2 0.3 1
HENEH <0.1 <0.1 <0.1 <0.1 0.9 i
BREESEEE <05 <05 <0.5 <0.5 <05 10
BEUTVHUEEE £0.2 <0.2 0.2 £0.2 0.2 10
JnLEEE <0.04 <0.04 <0.04 <0.04 <0.04 2
F>3REUZTIEEY <0.1 <0.1 <0.1 <0.1 0.1 10}
AOBRRUZDIEEY <0.8 <0.8 <0.8 <0.8 <0.8 8
F)HZOOITFLL <0.03 <0.03 <0.03 £0.03 <003 0.3
FhSHan0IFL <0.01 <0.01 <0.01 <0.01 <0.01 0.1
LhHanias, <0.02 <0.02 <002 £0.02 <0.02 0.2
misikbmE <0.002 <0.002 <0.002 <0.002 <0.002 0.02
1.2-00x43 <0.004 <0.004 <0.004 <0.004 <0.004 0.04
1 1-o200TF <0.02 <0.02 £0.02 <0.02 <0.02 0.2
DA-1,2-UO8RTFLY <0.04 <0.04 £0.04 <0.04 <0.04 0.4]
1,1,1-MJoonxT R, <0.3 €0.3 £0.3 <0.3 <0.3 3
11.2-F) ORI, <0.006 <0.006 <0.006 <0.006 <0.006 0.06
1.3-Uh2an7o~Ay, <0.002 <0.002 £0.002 <0.002 <0.002 0.02
Fra5 s <0.006 <0.006 <0.006 <0.006 <0.006 0.06
PN <0.003 <0.003 <0.003 £0.003 <0.003 0.03
FAR AT £0.02 <0.02 {0.02 <0.02 <0.02 0.2
AN <0.01 <0.01 <0.01 <0.01 0.0t 0.1
LU RUEDEEY <0.01 <0.01 <0.01 <0.01 <0.01 0.1
wnEE 6.5 6.2 6.6 11 21 125
FoEZTHRESE 0.1 0.3 1.6 34 21 —
%E—Wﬁggi 6.4 5.9} 6.6 1.5 0.1 —
=LA+ — — 2800 - 9100 —
X < [LEmERT . N ETE IR IR D 7o




OELBRELVI—#EETEOKRICET 158 (2430, 1)
&2 T KB CRIANIIKEREZE (1 Bl/4) mg/L. .
I — _ B 17 _ ¥ESIES#3 ZE[E
FHENO1 | FFNO.2 | FFN0.3 £ TR (BLF)
pH — - — 1.7 7.6 6.5~85
BOD — — — 0.8 <0.5 2
SS — — — <1 3 25
\ERE Y mE — — - — - -~
TiERESE Y RIEE - - — - — —
FOFEHEE - — ~ — - -
DO — - — 9.9 9.7 758 F
AimE R — — - 3.8 X 104 27x10¢ 1000
AREDLBRUEDEESY <0.001 <0.001 <0.001 <0.001 <0.001 0.01
P AEE <0.1 <0.1 <0.1 <0.1 <0.1 ND
FERE — - — — — - B
SMEBEUZFOILEY <0.005 <0.005 <0.005 <0.005 <0.005 0.01
wiiI=FNI <0.005 <0.005 <0.005 <0.005 <0.005 0.05
HERVZD] L& <0.001 0,001 <0.001 <0.001 <0.001 0.01
#9K 2R <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.0005
FILFIJLIKERIE S <0.0005 <0.0005 £0.0005 <0.0005 <0.0005 ND
RUE{EDTZ L <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 ND
Jr/—LEEF= — - — — -~ —
HESE = — - — — -
EXitk = — - — — -
BRESESEE - — - — - —
BEEIAEEE — - — - - —
JBLERE — - — - — —
E3FERUVEDLEY - - - 0.0t _0.01 1
AORBUZTDIESH — — — <0.08 0.08 0.8
ORI FLY £0.002 <0.002 <0.002 <0.002 <0.002 0.03}
FESHOOOIFLY <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.01].
THUO AR, <0.002 <0.002 <0.002 <0.002 <0.002 0.02
mig{bm = <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 0.002
1.2-on@aTas, £0.0004 £0.0004 <0.0004 <0.0004 <0.0004 0.004
Li——onoIrFLy £0.002 £0.002 <0.002 <0.002 <0.002 0.02
VA-12- 00T FL <0.004 <0.004 <0.004 <0.004 <0.004 0.04
1.1,1-F)ooox 4y, <0.0005 <0.0005. <0.0005 <0.0005 <0.0005 1
1,12-h)onox4s, <0.0006 <0.0006 <0.0006 <0.0006 <0.0006 0.006
1.3-UoanJyoAy, £0.0002 <0.0002 <0.0002 <0.0002{ <0.0002 0.002
NFE2Z4 <0.0006/ <0.0006 +<0.0008 <0.0006 <0.0006 0.006
R <0.0003 <0.0003 <0.0003 <0.0003] - <0.0003 . 0.003
FAR AT <0.002 £0.002 <0.002 £0,002 <0.002 0.02
Ao <0.001 <0.001 <0.001 <0.001 <0.001 0.01
Lo BRUFDILESH <0.001 <0.001 <0.001 £0.001 £0.001 0.01
BWEE - - - ~ — —
[l E “ — = N
B % — — — 0.4 35 10BLF
féit#ﬁ«fﬂv — - — — —1 —
>< CAEERBEERT,
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